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DE SO 1:
Logical Thinking/ Tw duy logic
Q1. Alice wrote a 2-digit number on a piece of paper and asked Bobby to guess it.
Bobby asked: “Is the number 68?”
Alice replied: “One of the digits is correct, the position of that digit is wrong.”

Bobby asked again: “Is the number 777
Alice replied: “One of the digits is correct, the position of that digit is wrong.”
Bobby asked again: “Is the number 79?”
Alice said: “One of the digits is correct, the position of that digit is correct.”
What is the number written by Alice?
Alice viét mét s6 ¢6 2 chir s trén mét manh gidy va yéu cau Bobby dodn né.
Bobby héi: "Cé phdi sé 68 khong?"
Alice tra loi: "Mt trong cdc chir s6 la ding, vi tri ciia chit sé d6 la sai."
Bobby héi lai: "Cé phdi sé 7 khéng?"
Alice tra loi: "Mt trong cdc chir s6 la ding, vi tri ciia chit sé dé la sai."
Bobby héi lai: "Cé phdi sé 79 khéng?"
Alice néi: "Mt trong cdc chir sé6 la ding, vi tri ciia chit sé d6 la chinh xdc."
S6 dwoc viét béi Alice 1 s6 ndo?
Q2. When Bruce was born, mum was 29 years old. When Bruce will be 28 years old,
how old will mum be?
Khi Bruce duoc sinh ra, me 29 tuéi. Khi Bruce 28 tuéi, me s€ bao nhiéu tuéi?
Q3. According to the pattern shown below, what is the number in the blank?
Theo quy ludt dwdi ddy, sé dién vao 6 trong la bao nhiéu?

12, 15, 21. 30. 42, 57.
Q4. According to the pattern below, what is the English letter in the space?

Theo quy ludt dwdi ddy, chir cdi tiéng Anh trong khodng trong la gi?
P ~> M ~> J ~> G ~>

Q5. According to the pattern below, how many ¢is / are there in the 7™ Group?
Theo quy ludt duodi day, co bao nhiéu % trong hinh thir 7?
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1%t Group 2 Group 3t Group 4% Group

Arithmetic/ S6 hoc
Q6. Find the value of 37 + 13 — 68 — 13 + 51.
Tim gid tri cua 37 + 13 — 68 — 13 + 51.
Q7. Find the value of 24 + 62 + 16 + 29 + 8.
Tim gia tri cua 24 + 62 + 16 + 29 + 8.
Q8. Find the value of 1 [1 113+ 2 [1 113 + 3 [1 113+ 4 [] 113,
Tim gia tri cua 1 11113+ 2 1113+ 3 [1 113+ 4 [] 113.
Q9. If A and B are both 1-digit number, find the value of B.
Néu A va B déu la sé ¢6 1 chit s6, hdy tim gid tri ciia B.

A A
+ A B
7 2

Q10. What is the number in the blank if the equation below is correct?
S6 trong 6 trong la bao nhiéu néu dang thirc dwéi day ding?

209019

Number Theory/ Ly thuyét sb

Q11. How many 2-digit even number(s) that is / are multiples of 3 is / are there?
C6 tdt ca bao nhiéu sé chan cé 2 chir s6 la bgi ciia 3?
Q12. Fill the lines with ‘+* and ‘-’ to make the equation below correct. (Write down
the complete equation on the answer sheet).
Pién vdo cac dong voi ddu “+’va -’ dé tao thanh mét phép tinh ding. (Viét phwong
trinh ddy du trén phiéu tra loi).

15 8 _6__1=16
Q13. Fill the lines with ‘[1” and ‘+’ to make the equation below correct. (Write down
the complete equation on the answer sheet).
Pién vdo cac dong voi ddu ‘T1° va “+’ dé tao thanh mét phép tinh ding. (Viét phuwong
trinh ddy du trén phiéu tra loi).
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Q14. If Ais odd number, the result of A [ (A + 1) [J (A [J 2) is odd or even?
Néu A la s6 1é thi két qud ciia A 0 (A + 1) U (A U 2) la Ié hay chdn?

Q15. If A and B are both 1-digit numbers and C # 0, find the value of A [ B.
Néu A va B déu la cdc sé ¢6 1 chit sé va C # 0, hdy tim gid tri cia A [ B.

B A
+ A B
C 8 7

Geometry/Hinh hoc

Q16. According to the pattern below, what is the figure in the space (* *)?
Duea vao quy ludt dwdi day, hinh dién vdao ché trong la hinh gi?

oAo([oAeo[[oAe o Ao .

Q17. How many square(s) is / are there in the figure below?
C0 bao nhiéu hinh vuéng trong hinh duoi day?

Q18. The lengths of two sides for a triangle are 6cm and 10cm respectively and all
length are integers. Find the maximum length of the other length.

Do dai hai canh cua tam gi,dc lan lwot la 6¢m va 10cm va do dai cac canh déu la s6
nguyén. Tim do dai lon nhdt cua canh con lai cua tam giac.

Q19. At least how many squares can be seen if viewing the figure below from side?
C6 it nhdt bao nhiéu hinh vuéng c6 thé dwoc nhin thdy néu nhin tiv bén canh hinh
dudi day?.




\rwv_;;—.u MATH TOGETH

Tong hop @é thi ky thi HKIMO khéi 2 cdc niam

Q20. At most how many pieces can be formed by using 4 lines to cut a circle?
C6 thé tao thanh nhiéu nhdt bao nhiéu phan bang cdach ding 4 dwong thang dé cat
mot hinh tron?

Combinatorics/ T6 hop

Q21. Choose 2 digits, without repetition, from 0, 3, 5, 7, 8 to form 2-digit numbers.
Of these 2- digit numbers, how many of them are odd number?

Chon 2 chii so, khong lap lai, tr 0, 3, 5, 7, 8 dé tao thanh cdc sé c¢6 2 chir s6. T rong

cdc s6 ¢6 2 chik s6 nay, ¢é bao nhiéu sé ld 56 16?

Q22. What is the greatest 4-digit even number by using 0, 3, 5, 7 and 8? (Each digit
can only be used once).

S6 chc?n I6m nhdt cé 4 chir s6 lgdng cach sir dung 0, 3, 5, 7 va 8 la bao nhiéu? (Mbi
chit so chi dwoc su dung mot lan).

Q23. Pick 3 from 9 competitors to get gold, silver, bronze reward. How many
different combination(s) is/are there?

Chon 3 tir 9 van dong vién dé nhan phdn thwong vang, bac, dong. C6 bao nhiéu cdch
ket hop khac nhau?

Q24. Chris has ten $1 coins, nine $2 coins and three $5 coins, at most how many
book(s) can he buy given that each book costs $4?

Chris ¢6 muwoi dong 1 dé la, chin dong 2.do la va ba dong 5 dé la, anh ta c6 thé mua
nhiéu nhdt bao nhiéu cuén sdch biét rang mdi cuén sach c¢é gid 4 dé la?

Q25. Which number below is the greatest?

S6 nao dwdi ddy la Iom nhdt?

20196951 . 20186421, 2020345, 20198462
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PE SO 2:
Logical Thinking / Tw duy lo-gic

Q1. A student needs to finish TIMO Mock Exam within 90 minutes. How many
minute(s) is / are required for 100 students to finish TIMO Mock Exam altogether?

Hoc sinh can hoan thanh Ky thi thir TIMO trong vong 90 phit. Héi cdn bao nhiéu
phut dé 100 hoc sinh hoan thanh Ky thi thir TIMO hoan toan?

Q2. According to the pattern shown below, what is the English alphabet in the space
provided?

Theo mau hién thi bén dwdi, bang chit cdi tiéng Anh trong khodng trong tiép theo la
gi?

C.FJ I L. o

Q3. 6 years later, Amy was 13 years old. How old will Amy be 4 years later?
6 nam sau, Amy 13 tuéi. Hoi 4 nam sau Amy bao nhiéu tuéi?
Q4. According to the pattern shown below, what is the number in the blank?
Theo mau hinh duwéi ddy, s6 nao vao ché trong?

3.9.16.24, 33,43, _ . ...
Q5. According to the pattern shown below, what is the number in the blank?
Theo mau hinh dwdi ddy, sé ndo vao ché trong?

2.9.16,23,30.37. __ . ...

Q6. 6th April 2019 is Saturday. Which day of the week is 31St August this year?

Ngay 6 thang 4 nam 2019 la Thir Bay. Hoi ngay 31 thang 8 nam do la thi mdy trong
tuan?

Arithmetic / S6 hoc
Q7. Findthevalueof 3+6+9+12+15+18+21 +24
Timgiatricua3 +6+9+ 12+ 15+ 18+21+ 24
Q8. Findthe value of 17 (114 + 17 [13-17 17
Timgidatricua 17 1114+ 17 (13 -1707
Q9. Find the valueof2-4+6-8+10-12+14-16 + 18 - 20 + 22
Timgiatricua?2 -4+6-8+10-12+14-16+ 18 - 20 + 22
Q10. What is the number that should be filled in the blank if the equation below is
correct?

S6 can dién vao ché trong la bao nhiéu dé dang thirc dwdi day diing?
10700 =749

Q11. Findthe value of 24 -6 +24 +3+24 - 2+24 + 1

Timgiatricua24 ~6+24 +-3+24+-2+24+1
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Q12. Find the value of 2+4+6+ ... +18+20+18+...+6+4+2
Timgidatricua2 +4+6+ ... +18+20+18+..+6+4+2

Number Theory / Ly thuyét sé
Q13. Amy has 37 apples and John has 15 apples. How many apple(s) does Amy at
least have to give John to make them have 4-apple difference?
Amy c6 37 qua tao va John ¢6 15 qua tao. Amy phai dwa cho John it nhat bao nhiéu
qua tao dé hiéu so tao cua 2 ban la 4 qua?
Q14. 5 students have 30 balloons in total and each of them has a different number of
balloons. At least howmany balloon(s)does the student with the most balloons have?
5 hoc sinh 6 tdt cd 30 qua bong bay va moi ban c6 s6 lwong bong bay khdc nhau.
Hoi hoc sinh co nhiéu bong bay nhdt co it nhdt bao nhiéu qua bong bay?

Q15. The numbers below follow the arithmetic sequence, what is the SOth number?
Cdc 56 dudi ddy theo cdp sé c¢dng, sé thir 30 la s6 mdy?

7. 13, 19, 25, 31, ...
Q16. How many 2-digit number(s)that have the unit digit 6 without repetitive digits
is / are there?
C6 bao nhiéu sé6 ¢6 2 chit s6 ma chit s6 hang don vi la 6, cdc chir s6 khéng ldp lai?
Q17. Determine the resultof 1 x 1+2x2+3xX3+4XxX4+5x5+6%x6+7x7
is odd or even.
Xéc dinh két qua ciia 1 x 1 +2%x2+3%x3+4x4+5x5+6x6+7x7lale
hay chan.
Q18. Find the smallest 3-digit even number without repeated digits.
Tim s6 chan nhé nhdt c6 3 chir sé khéng Idp lai cdc chi s6.

Geometry / Hinh hoc

Q19. How many square(s) is / are there in the figure below?
Co bao nhiéu hinh vuong trong hinh duoi day?

Q20. How many interior angle(s) is / are there in the polygon below?
Co bao nhiéu goc trong cua da giac bén duoi?
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Q21. A prism has 18 edges, how many face(s) does this prism have?

Mot lang tru co 18 canh, hoi lang tru nay co bao nhiéu mat?

Q22. According to the pattern shown below, what is the figure in the space provided?
Theo hinh vé duéi déy, hinh gi dién vao khodng trong?

AoooAAocooAAOCO ...

Q23. How many triangle(s) can be formed below?
C6 thé ldp dwoc bao nhiéu tam gidc dwedi ddy?

Q24. At least howmany square(s) can be seen if viewing the figure below from the
font?

C6 thé nhin thdy it nhdt bao nhiéu é vuéng néu nhin hinh bén dwéi tir phia truéc?

Combinatorics / T6 hop
Q25. Separate 42 as the sum of two different integers. How many way(s) is / are
there? (Consider 5 + 6 and 6 + 5 as the same method)
Tdch 42 thanh tong cia hai sé nguyén khdac nhau. Cé bao nhiéu cach? (Coi 5 116
va 6 [105 la cung mot phwong phdp)
Q26. Choose 2 digits, without repetition, from 1, 3, 5, 7, 8 to form 2-digit numbers.
How many even number(s)is / are there?

CodeMath - Luyén thi Todn Olympic quéc té

& codemath.vn (9 0346 475 489 7
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Chon 2 chir s6 khéng ldp tir 1, 3, 5, 7, 8 d@é Idp thanh sé ¢6 2 chit so. C6 bao nhiéu
s6 chan?

Q27. Choose 4 digits, without repetition, from 8, 5, 4 and 9 to form two 2-digit even
numbers and add them up. What is the maximum value of the sum?

Chon 4 chir 56 khéng lap tw 8, 5, 4, 9 dé ldp thanh hai sé chdn cé 2 chit s6 roi cong
chiing lai. Gid tri I6n nhat ciia tong la bao nhiéu?

Q28. A group of 11 students are taking photos 2 students at a time. Each student has
to take photo with each of their schoolmate. How many picture(s) at least are there
to be taken?

Mot nhom 11 hoc Sinfz dang chup anh cho 2 hoc sinh cung mot luc. Mbi hoc sinh
phdi chup anh véi méi ban hoc cua ho. Can chup it nhat bao nhiéu birc anh?

Q29. According to the following sequence for first 187th terms, how many even

number(s) is / are there?

Theo ddy s6 sau cho sé hang dau tién thir 187, c6 bao nhiéu sé chan?
1,1,2,3,5,8, 13,21, ...

Q30. Peter has 4 $5 coins and 4 $10 coins. How many $20 notes can he exchange?

Peter ¢6 4105 d6 la va 4 to 10 do la. Anh ta doi dwoc bao nhiéu to 20 dé la?
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PE SO 3:
Q1. If the day before yesterday was Tuesday, which day of the week will 4 days later
be?
Néu ngay truéc ngay hém qua la thi Ba, hdi 4 ngay niza 1a thir may trong tuan?
A. Monday (Thz Hai) B. Tuesday (Th« Ba)
C. Wednesday (Thu Tu) D. Thursday (Thu Nam)

Q2. 17 children form a line. There are 9 people in front of Amy. What is her position
counting form behind?

17 dira tré tao thanh mgt hang. C6 9 nguoi o phia trudc Amy. Hoi vi tri cua cd ay
dem tur phia sau la thiz may?
A. 6 B.7 C.8 D.9
Q3. According to the pattern shown below, what is the number in the blank?
Duwea vao quy ludt duwdi ddy, sé & ché tréng 1a s nao?
2,6,12,20,30,42,
A. 55 B. 56 C.57 D. 58

Q4. John goes to school by bus and he needs to pay $5 each time. How much does
he have to pay if he goes to school and goes back home during a week by bus?

John di dén truong bang xe buyt va anh dy can tra $5 méi lan. Hoi anh ay phai tra
bao nhiéu tién neu anh ay di den truong va di vé nha trong mét tuan bang xe buyt?
A. $30 B. $35 C. $65 D. $70
Q5. According to the pattern shown below, how many ® are there in the 13th group?

Dwa vao quy ludt dudi day, co bao nhiéu ® trong nhom thar 13?

o
®

3 O B

o] ] o] [e] lo] [o] bL To] [o] To]
® @
L= | ? H
o @
1% Group 2 Group 3% Group 4™ Group

A. 23 B. 24 C.25 D. 26

Q6. Find the value of 3+ 13+ 23 +33+ 7+ 17 + 27 + 37

Timgiatricua3 +13 +23 +33 +7 +17 +27 +37

A. 160 B. 161 C. 162 D. 163
Q7. Find the value of 45 — 6 + 27 + 6.

Tim gia trj cua 45 —6 +27 +6.

A. 60 B. 72 C.78 D. 66
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Q8. Findthe valueof 1 + 4+7+10+13+16+19-18-15-12-9-6-3.
Timgiatricial + 4 +7 +10 +13 +16 +19 —-18 —-15-12 -9 -6 - 3.

A5 B.6 C.7 D.8

Q9. What is the number that should be filled in the blank if the equation below is
correct?

S6 nao nén dwoe dién vao ché trong néu phép tinh dudi ddy ding?
+7=14
A. 2 B. 3 C. 96 D. 98

Q10. If A and B are different 1-digit numbers, what is the value of B if the equation
IS correct?

Néu A va B la cac sé ¢6 1 chir s6 khéc nhau, gia tri cia B 1a bao nhiéu néu phép tinh
sau dung?
A. 3 B. 2 C.4 D.5
Q11. Amy has 28 apples and John has 82 apples. How many apples does John have
to give Amy to make them have the same number of apples?
Amy c0 28 qua tdo va John c6 82 qua tado. Hoi John phdi dua cho Amy bao nhiéu
qud tdo dé ho ¢6 sé tao bang nhau?
A. 25 B. 26 C.27 D. 28
Q12. 4 children have odd number of balloons in total. Two children have odd
numbers of balloons and one child has even number of balloons. Determine the
number of balloons of the remaining child is odd or even.
4 ban nho c6 tong so bong bay la 50 lé. 2 ban c6 so béng bay 12 lé va 1 ban c6 so
bong bay la chan. Xdac dinh so bong bay cua ban con lai 1a lé hay chan.
A. Odd (S4 1é)
B. Even (Sé chan)
C. Both odd and even (Vira chan vira 1é)
D. Neither odd nor even (Khdng lé khdng chan)
Q13. The numbers below follow the arithmetic sequence. What is the 13th number?
CAac S duwdi ddy la mét day sé cach déu. Sé thir 13 14 s6 nao?

123, 120, 117, 114, 111, ...
A. 87 B. 88 C. 89 D. 90

Q14. How many 2-digit numbers having the units digit that is smaller than 2 are
there?

C6 bao nhiéu sé ¢6 2 chir sé ¢d chi $6 hang don vi nhé hon 2?
A. 17 B. 18 C.19 D. 20

10
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Q15. Fill the lines with ‘+* and ‘x’ to make the equation below correct.
bién vao dong ké véi ‘+’va ‘x’ dé tao thanh phép tinh ding.

1 1 2 3 4=12
Al+1+2x3+4=12 B.1+1+2+3+4=12
C.1+1x2x3+4=12 D.1+1x2x3x4=12
Q16. How many squares are there in the figure below?
Co bao nhiéu hinh vuong trong hinh dwoi day?

A. 12 B. 14 C.15 D. 17
Q17. How many sides does a rectangle have?
Mot hinh chiz nhat cé bao nhiéu canh?
A 3 B.6 C. 4 D.5
Q18. According to the pattern shown below, what is the figure in the space ()
provided?
Duwea vao quy ludt duwdi ddy, hinh dién vao ché trong (¢ ) 1a hinh gi?

AOOCO AAO OO AAOOCO  A...
A. O B. o C.A D. ©
Q19. At least how many squares can be seen if viewing the figure below from top?
C6 it nhat bao nhiéu hinh vuéng c6 thé thdy néu nhin hinh dwéi déy tir trén xuéng?

( y

A.5 B.6 C.7 D.8
Q20. At most how many lines can be formed by using 4 points on a plane?

C6 nhiéu nhdt bao nhiéu dwong thang c6 thé tao thanh tir 4 diém trén mét mdt phang?
A.3 B. 4 C.5 D.6

Q21. Amy, Andy and Johnny have some candies. After Amy gives 6 candies to Andy
and 4 candies to Johnny, they have equal numbers of candies. How many candys did
Amy have more than Johnny originally?

Amy, Andy va Johnny c6 mét sé cai keo. Sau khi Amy cho Andy 6 cai keo va cho
Johnny 4 cai keo, thi ho ¢6 sé keo bang nhau. Héi Liic dau Amy c6 nhiéu hon Johnny
bao nhiéu cai keo?

A. 15 B. 16 C.12 D. 14

11
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Q22. What is the smallest 4-digit number by using 3, 5, 7 and 0? (Each digit can only
be used once).

S6 nhg nhdt c6 4 chit s6 tqo bai céc chir sé 3, 5, 7 va 0 14 s6 nao? (Mdi chi so chi
cé thé dung mgt lan).

A. 3057 B. 0357 C. 3750 D. 3507

Q23. Pick 2 from 5 children to take part in mathematics competition. How many
different combinations are there?

Chon 2 trong 5 hoc sinh dé tham gia mét cugc thi toan. Hdi ¢ bao nhiéu céch chon?
A. 2 B.5 C.10 D. 11
Q24. How many even numbers are there in the first 26 numbers?
C6 bao nhiéu sé chan trong 26 sé dau tién?

1,5,6,11,17,28, ...
A.8 B.9 C. 10 D. 11

Q25. Jack has 4 $1 coins, 3 $2 coins and 2 $5 coins, how many different values of a
product can he buy without any changes?

Jack c6 4 dong $1, 3 dong $2 va 2 dong $5, hoi c6 bao nhiéu gid tr; khac nhau cua
mgt mon hang ma anh ay co6 thé mua ma khong co tién thea tra lai?

A. 10 B. 15 C. 20 D. 25

12
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